Arg 21(A)
CB

oL

C35

%
_ B Ca = C37
= S i
] ca g Gad
ca1 O R s Val 18(A)
39 o =
[ w
L2 ong c%? OA7 Ci1 “a )= la 10(A
- a
OA - os / (A)
NH1 CAY
S Chg o6
iy cig s Met 17(A)
281
Noad CIo S
= CAZ <
= S
0A3 ollcas ci4 17 ' cis /
7 | B
20
o - Leu13(A)
> Phe 268(A) co1
CA;
OB3
o oB2 e~ 24
4 Cdl 606(A)
oB4 ; iz
c23
cBZN eu 284(A) c
OB!
rg 281(A)
a3
a6 CB4 glcst -
089 al 289(A)
S |0pGCBS
CB7 : oles Ser 288(A)
0B7 -
LS p 285(A)
c7L =
73
/ cooll
c7z S C74 S C56
o o 1le 293(A)
a 2 a 202(A)
cr7 Co s 056
cre C78 : /Eﬁo CB5 4 \
- - C57
oL \ )=
crg - Coa
co Y2 gl dl 702(B)
C81
C82
C84
a7
[: C85

N
iﬁi 9(A)



